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What does pervasivencss of planning indicate 7

(1) Flanning is top level activity

{2) Planning 1s tke first funetion of management

i3l Planning can be extended to all levely and every tyvpe of activity
(4 PMlanning iz the future aclivily

Who developed the S-0:-T3-00 Model of OB 7

{1} Fred B Luthans {2 Stephien Robbing

(3 Keith Davis (4] Ruther Kelvin

ln relation Lo stress andlor eonflicl, how are elarification. ereativity and innovation,
and improved relations perceived ?

(13 They are the sources ol condlicl

(2 They are stress coping strategies

() They are functional cutcomes ol conflict

(4] They are, in any way, not related to conflict and siress

The data model which deseribes how the data is actoally stored is -
(1) Internal Maodel (2] External Model

(3 Logical Model (4] Seqguential Model

From what location are the 1lst compuoter instructions available on hool up 7
(1) ROM BIOS (2 COPU

C33 Boot.ini (4} Clonfig zys

Bill of material struclure 18 vsed to

(1) Caleulale the net requirements

(2) Caleculate the due dadles

{3) Calculate the manpower requirements

i4) Caleulate the gross requirements

Fstimate the amount of profit, if sales is 10000 units, fixed cost iz T 50000, variable
cost per umt is T 12 and selling price per wmt 2 T 20 ¢

1} T 120K (2] F 30000
(3) Z 5000 (4] T 15000
An assignment problem is said to be balanced, if :

{1} The number of rows = The number of eolumns

{2 The number of allocated cells = The number of rows + the number of
columng — 1

(3 Total supply = Total demand

id) The number of zero in the cost malrix is equal Lo the vrder

Which term refers to business processes that are not executed by a single group

or function 7

i1 Silo effect {2 Crosz-functional

i3] Funectional structure 1) Enterprise systems

In 1977, Coca-(lola and IBM were thrown oul of India. This situastion ean be

discuszed under which of the following environments 7

(1) Demographic environment 2] Polhitical-legal environment

1) Feonomis savironment (4] Natural Environmenl
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Bl A 360 degree performance [eedback involves evaluation of the einplovee by -

(1) I Managers only
(2 All who are direetly .n contact with the employee
(4 Supervisors only
i) Subordinales only
12. Clagsifying markel us open marke! and black market 1s based upon
1) Competition (2) Time period
(3) Legality (4 Ares
13 What dees Unity of Command Prineiple imply 7
i1 There should nol be control over subordinates
(2 One subordinale should hive only one superior
(31 One boss should guide only one subordinate
(4} All employees should work in unity
14 Which organization revolves around the provess and not the task 7
{1} Net work organization {2 Ilorizontal organization
{3 Virtual organization (4] Vertical organization
15.  The objective of HIRM does nof include :
(1) To attract the talent people
(2] To develop the competeney of employees
(1 To utilize the manpower al the optimum level
(4} To motivate and retain employees
18. In a perfectly compelitive market, which price of a commodity prevails :
(1) Different (2) Uniform
(3 Very high i4)  Very low
17. Span of control implies the .
(1] Number of subordinates who report to a superior
(2 Number of suburdinates who work in the orgamzation
(3h Number of subordinates who take decisien
i4) Number of subordinates who have more freedom to work anywhere
18- Sociable, sutgoing, talkative, assertive, and gregarious are included in which one
of the ‘Big Five' Traits 7
i1 Consclousness (2)  Agreeableness
3) Emotional stability (4) Extroversion

15 GNP at Market Price :
(1) GDP + Net factor income from abroad
(2 ONP at lactor cost
(3) NNP at factor cost
4] Disposable Income
20. Rate at which, the Commercial Banks borrows {rom Lhe Heserve Bank ol India
is ralled as @
(1) Repo () FLE
{3} Bank Rate i4) BRPLH
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22,

2.

8

15

4,

Trv & miethod, there g s ocombination of techriguos tsed an the weaghiod check

Ligt, rating and eritical wneident method, it 18 known as @

i1) A60-degree performance appraizal method
(2 Cost. Accounting
{3 Behaviorally anchored rating scales

i4) Appraisal by results or Management hy Chjzctives

According to Poter Drucker. & mussion statement s the foundation for |

(1) Performing competitor analysis and deciding relative peositioning
(2) Determining the calegory of intenlions that are broad-based

(3 Creating values and attitudes, and should inspire

4 Articulating priorities, sirategies, plans and work assignments

Groups of people with shared valee syvstems based on common lile expericnces

are called :
8B Cohorts (23 (GGenerations
(3} Suboultures £4) Affiliate groups

Buyers are divided into different groups basing on lifestyles. This comes under
which type of scgmentation

(1) Demographic segmenlation (2] Psycho graphic segmentation
(3 Behavioral segmentation (4] Conrentrated scgmentation

The product-life-cyele follows which of the following sequence of stages 7

(1) Introduction-growth-decline-maturity
{2 Introduction-matunty-growth-dechne
3 Growth-maturity-decline-introduction
i Introduction-growih-maturity-decline

DI-324-BAD A 4
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25,

29.

30.

An inerease in the firms receivables lurnover ratio medns that
&8 It is colleeting eredit sales more guickly than before

(21 Cash =ales have decreased

(3 It has iniliated more liberal credit terms

rd) Inventories have increased

The extenl of lincar relationship between two vartales X and Y 15 determined

by !
(11 Coeflicient of correlation {23 Probable error
(3 Stendard error (4} Coefficient of determination

The dead bodies eoming to a grave vard is an cxample of :

(13 I'ure death process (2} Pure birth process

(3] Birth and death process (1) Not a gueve process

What is the meaning of soflware scope ¥

(1) It describes the off-the-shelf component

) It describes the functions and features that are to be delivered to end
LHETS

) It desembes the software rigk

(1) It describes the software virus and scanning

The line cxceutive needs to take permission/approval while demding from which

staff type 7

(1} Advisory staff 2] Project Staff

(3) Concurring staff (4] Personal stalf

DL-324-BAD—A 1 PT.O
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A0

3.

7.

38,

Which one of the 0D Technigues mvolves the use of questionnaire zo identify
discrepancies among members perception, aflter which dizcussion follows and
remoedies are suggested 7

(1 Survey feedback (2] Sensitivity training

3 Process Consultation (4) Tearm Building

Which o the following i & WTO procedure to attain Globalization ?

(1) NMurguance of Free Trade

{2 Eeduction of Budgetary Subsidies

(3) Fall in transport costs

(4 Promotion of Foreign DPortfolio lnvestments

Instructing, educating and traiming the emplovees and zubordinates 1z ealled -
(1) Ceoaching (2) Mentoring

3 Career Management (4} Career Development

A bank plans to gain competitive advantage by providing speedy services. This

ig an example of which type of differentiation 7

(1 Froduet (2] Services

(3 Idea (4] Physical Evidence
Some of the sources of secondary data are !

(1} The data obtained by a survey

(21 Confidential records of the firm

(3 Records of firms sales, production, profits ete.

(4] Data available from the sources of Journals and books

In dynamie programming, which of the following does not change at every stage -

{1 Obgective function {2) Hecursive Funelion

{3 Results (4 State Variables

NPV is :

{1} Proportion of present values of cash inflows and outflows

(2} Difference belween present value of cash inflows and cutflows
i3 Cost minus zales

i4} Sales minus cost price

Which one of the following is notl an important charactertstic of useful and effective
information ?
(1] Accuracy (2) Timelineas

t3) Completeness (4 Econamy

DL-324-BAD—A 6
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445,
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In Management Theory and Practice, coordination &

(1 [Inification, integration and synchronisation of group’s efforts

) Controlling group eclforts

(3 Ihsintegraling groups

(4 Building up small groups

The Industrial Policy, 1956 emphasized the role of which seclor for providing
employment and use of local resources :

i1 Collage Indusiries [2) Khadi and village induslries

i3 Medium seale industries (4} Cottage and small seale industries
When a Manager applies a negative conzequence 1o reduce an employees
undesirable behavior, what is thizs process called 7

(1) sell-aetualization (2) Extinction

13) Positive reinforcement i4) Punishment

The organizational strueture in which similar activities belonging to the funetional
areas, are grouped together is called asz the :

(1) U form {2) Divisional structure

(3 M-form i4) Homogenous Structure

In which type of research is the consumers who initially try the product at ne

cost are re-offered the products or a competitors product, at slightly reduced

i

price ¥

(1) Sales-wave research (2} Controlled test marketing
(3 Stimulated tesi marketing (4} Test Markets
Investigatorzs knowledge about the ‘population’ is the hasig in:

{1 Purposive sampling (21 Stratified sampling

(3) Systematic sampling (4] Cluster samphng

Which of the following strategies iz a marketer using, when he chooses to target

an entire market by combining some segments ¥

(1) Undifferentiated marketing {2 A combination strategy

(3 Concentrated marketing (41 Differentiated marketing

The vonvergence of the Indian Accountling Standards with IFRE implementation
began on :

(1) August 09, 2015 (23 April 10, 2015

(31 Drecember 11, 2015 (41 April 15, 2015

ET.O
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What are the chunces that no two boys are sitting for a photograph if there
are & girls and 2 boys ?

(33 [/21 {2y 47

(3) 2/7 (4] 57

Which of the following financizl statements shows the movement of eash and
cash equivalents in during an accounting period 7

(L) Income statement {2 Balanee sheet

{31 Cash [low statement (4} Statement of changes in equity
If the displayed system time and duate is wrong. you ecan resel it using
(1) Software wrile 21 Calendar

(3) Write file and folder i4) Control panel

In which situation, the controller is nof required to underlake any corrective
actions 7

(1] When the aciual result is less than the expected result

(2) When the actual result is more than the espected result

(3 When the actual result iz equal to cxpected result

f4} When there is not result

In BW Tuckman's five-stage gronp formation process, name the third stage of
group formation :

(1) Performing (2) Adjourning

{3 Norming (4] Storming

Proposals for disinvestment in any I'SU, are nccessarily be placed for consideration
of the :

1) Central Cabinet Ministry Mectings

{2) State Cabinet Mindstry Mectings

(3) Industrial licensing Boards

(41 Cubinet Committee on Disinvestments

The process of HRPF is one of the most crueial, complex and continuing managerial
funetions which includes a series of steps. Which of the following is NOT the
step 1in HRP ?

(1} Colleetion of information and foreeasting manpewer requirements

(2} Preparation of inventory and matehing process

{3 Preparation of plan and approval of HR Plan

(d) Training of sequired employoeoes

DL-324-BAD—A &



B4, Some erganizations remain in ithe planmng slage of the provess lor ¢ long Lime

withoul moving on to implementétion because

i1y [Implementation is cagier und less important, and can be done at any time
[ Mlanning is done by managers, but mplementation iz outsourced
3] Planning requires garetul gathering and analysis of informasition, and Lha

15 time consuming

i PManning and implemeatation are independent of each other
53.  The buwilding blocks of gaining competitive advantage are :

(1) Effectivenesze, quality, innovation, political goodwill

23 Etticiency, quslity, innovation, responsivencess

i3 Produclivily, differentislion, responsiveness, community

4 {Clost control, flexibility, guality, efficiency
k. ".E'Ll_pha’ and ‘Heta' testing are usually used in ;

{1) Consumer good markel testing (2) Controlled Test Marketing

(3] Business-goods market testing (4) Stimulated test marketing
&7, The responsibilities of the operations manager include :
{1) Planning, organizing, staffing, procuring and reviewing
(2] Forecasting, designing, planning, orgamzing and controelling
(3] Forecasting, designing, operating, proeuring and reviewing
4] Planning, organizing, staffing, leading and controlling, procuring and
reviewing
A The Geometlrie Mean of 8, 64 and 512 is
{1) 194 (2] G4
3 16 (4] B8
B9 Increase in the number of patientz in the Hospital due to heat stroke is :
1) Secular {rend (2] Irregular variation
(3 Seaszonal variation (4) Cyclica]l variation
650, Cosl which 1s related to specific cost object and economically traceable will be

clo=sified as ;

1) Ihreel eost (3 Indireet cost
3 Line cost i cunk Cost
F1. The statement prepsred under process costing is called .

{1} Cosl of goods sold statement

{21 [necome statement
3l Statement of Equivelent Produetion
(41 Variance statement

D1.-324-BAD—A a9 PT.O



653,

]
[y |

67,

(51:8

64,

The cozt of insurance is part of ;

{11 Cosl ol ordering 12 Set oup cost

(] Inventory carrving cost i4) Cost ol shortages

A televizion broadeast is an example of which trensmiszion 7

(1) Simplex (2) Hall duplex

(3) Full duplex (4} Automatic

In managerial grid, in all, how many different sivles are possible 7
(1] 18 i2) H1

(3] 88 (4} 08

The difference between toral revenue and lotal expenditure of a government

g ¢
{1} Fiseal defieil (21 Revenue defieit
{33 Economic deflicit {4) Budget deficil

In relation to nature of Organizational Behavior, which one is frue ?

{1 OB 1s single disciplinary science

(2} ()8 is striet disciplinary seience
(3) OB i multidiseiplinary saence
(4} OB 15 trple disciplinary scicnee

we doses of input produces 24 units. Production inereases to 30 umits by the
introduction of sixth dose. Marginal oulput in this case will be :

(1) 24 (2) 30

51 £ (4} 3

The dutiez and responsibilities of the job, together with the knowledge, skills
and atilities needed to perform them, is called |

(1) Task analysis (2} Job analysis

(3 Job Duties (4) Need analysis

When an industry iz growing, and there are also significant opportunities of
economies of scale

i1} The firm should purgue horizontal integration

12} The firm should pursue forward integration

(3) The firm should seck other slower industries to enter

{4)  The firm should pursue foreign markets

DL-324-BAD—A 10
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A

The quartile deviation jncludes the .

(1 Firs: o0 percent (2 Last &} per cent

13 Central B0 percent of the items {4i Laszt 25 percent of the itens
Which of the following terms would NOT be considered in a4 price varnanee in
Standard Costing System 7

(1) Price (2 Efficiency

{3 Rale (4 Spending per unit

Liguid assots are determined by

(1) Clurrent Assets + Stock

P2} Current Assets + Prepaid Expenscs

(3} Current Assels — Stock-Prepaid Expenszes

(4} Current Assets + Stock + Prepaid Expenses

Which of the {ollowing cabling techniques iz considered best between buildings
lor cstablishing LANg ?

(1) 10 Base 5 (<} 10 Base-F
3 10 Base 2 (4} 10 Base 4
Fconomics 15 defined as Science of Wealth by

{1 Marshall (2 Adam Smith
(3) Robbin i4) Pigou

A behavior which has rewarding experience is likely Lo be repeated is postulated
by :

(1) Reinforcement and expectancy theory

(2} Equity theory

i3 Ageney theory

id) Enforcement Theory

Il the change in the demand of the commodity is equally preportionate to the
change in the price, the demand of the commaodity will be :

(1] lInit elasticity iZ2) Less than uml elasticity

(3 Perfectly elastic {4) Perfectly inelastic

Miles and Snow sirategies Tor businesses {o use in response to envirenments]

changes are = !

{1) Analvzers, rospectors, Minimalists, Innovators
(2) Defenders, Expanders, Reactors, Defenders
(3] Prospectors, Mimimaliste, Heactors, Innovators
(4} Prospeciors, Analyzers, Defenders, Reactors

BL-324-BAD—A LE PT.O
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82,

83.

If all the provessing equipments and machines are arranged according to the

sequence of operalions ol a product, the layoul is known as -

(1) Product layout i Process lavout

(3] Fixed position layout 4] Combination lavout

Which of the following statemente regarding the Chi-square distribution is

FALSE ¥

{1 The chi-square goodness of fiL 15 always one sided

(2 The degrees of freedom for a test of association 1s {r — 1) ¢ — 1)1z a
contingency table with {7} rows and (¢) columns

(3} The chi-square distribution is very skewed to the left

(4) The chi-square distribulion can be used to test the normaldy

A document which contains inlormation about matenals of specific product, in

gpecific department comes under .

(1] Costing method {2) Selling method

(3) Material Aecquisition melhod (4] Stores Control method

Hffective Demand Forecasting can be made through -

(1) [ntention (2] Past Experience
i3) Statistieal Analysis id) Political Situation
As per WTO requirements, patents are for how many years ¥
(1) 20 () 15

3 W (4) 10

While recruiting for non-managerial supervisory and middle-management
positions, which exlernal factor is of prime importance !

(1) Political-legal (2) Unemployment rate
(31 Labour Market (4) Growth and Kxpansion

The vosl of additional unit of preduction is known as :

i1 Absurption cost (2] Incremental cost
(3 Total cost (4] Marginal Cost

A firm following an apgressive working capital sirategy would |
(1 Hold substantial amount of fixed assets

(2] Minimize the amount of short-term borrowing

(3 Finance fluctuating assets with long-term financing

(4 Minimize the amounl. funds held in currenl assets

DL-324-BAD—A 12



2, The number of independent egualions o solve & network is equal to |

i The number of chords

12 The number of branches

B Sum of the nuember of branches and chords

4} Sum of the number of branches, chords and nodes

87, Which of the following beloags to Operations Research Model, classified on the

haszig of time reference !

(1) Predictive Model {2) Normative Model
(3 Dyvnamic Model (4] Simulation
88. Which eof the following statements regarding Critical Paths is frue 7

{1 The shortest of all paths {hrough the network is the critical path

(2] Some activities on the critical path may have slack
(31 Fvery network has exactly one eritical path
(4] (n a specific project, there van be multiple eritical paths, all with exactly

the same duration
89,  Which of the following iz usually minimized 7
(1) Sales
(2 Profits
(3 Operating Time
(1) Revenue

i, Three-dimensional representation of an object is termed as :
(1) Automated drafiing {(2)  Engineering analysis
(3] Geometric Modeling i) Algebraic Modeling

91, The following is nof a method of job design :

(1) Jdoh ratation {2 dJob enlargement
i3 Job enrichment (4] Job analysis
92.  Which is the concept which holds that consumers will favour those products

that offer the most quality, performance or innovative fealurcs ?
(1} Production concept {2) Produet concepl

{3 Marketing concept {4) Selling concepl
DL-324-BAT—A 13 PT.O
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o4.

i

99.

1040

Which of the following modules deals with the activities assuciated n
{ransformation of goods from raw material, movement of goods lo end users and
information work flows 7

(1] Saleg and Ihstribution (2 Supply Chain Management

(3) Warehouse Management 4 Production Planning

Which of the terms is nof associated with customer relationship marketing £
(1) Suspecis (2] Prospects

(3 Iheguelified prospects {4} Productive prospects

Inflation brings most benefit te which one of the following ?

(1) Government Pensioners (2] Creditors

i3 Savings Bank Account Helders (4} Debters

The appropriate financial objective of a corporate enlity is

(1 Maximization of sales lurnover

(<) Maximization of Earnings per share

{3 Maximization of Wealth

(4) Maximization of Profits

Which of the following methods may yield same IBFS for both minimizzation and
maximization of same data ?

(1} Vogel's approximation 12) Least cost entry method

3} North west corner rule i4] Row minima method

(losting refers Lo the technigques and processes of :

(1) Ascertainment of costs ) Allocation of costs

i3 Apportionment of costs 4 Distribution of eosts

Collection float 1= :

(1] Total time between the mailing of cheque by the customer to availability

of cagh Lo the Brm

(2} Time consumed in clesring the cheque through the banking system

{3 Time the cheque 15 in transit

(4] Time from the cheque received by the firm till it is eollected into firm
ancount

Which one of the following is & non-cash payment made by a firm to ils shareholders
that dilutes the value of each shuare of stock outstanding ?

(1) Heverse stock aplit (2 Cash disiribution

i3 Bonus shares i4) Regular dividend

DI-324-BAD—A 14
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